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1. Introduction

Let f : I ⊆R→ R be a convex mapping defined on the interval I of real numbers and a,b ∈ I, with a < b. The following double inequality is
well known in the literature as the Hermite-Hadamard inequality [7]:

f
(

a+b
2

)
≤ 1

b−a

∫ b

a
f (x)dx≤ f (a)+ f (b)

2
. (1.1)

The most well-known inequalities related to the integral mean of a convex function are the Hermite Hadamard inequalities. It gives an
estimate from both sides of the mean value of a convex function and also ensure the integrability of convex function. It is also a matter of
great interest and one has to note that some of the classical inequalities for means can be obtained from Hadamard’s inequality under the
utility of peculiar convex functions f : These inequalities for convex functions play a crucial role in analysis and as well as in other areas of
pure and applied mathematics.
In [3], Dragomir and Agarwal proved the following results connected with the right part of (1.1).

Lemma 1.1. Let f : I◦ ⊆ R→ R be a differentiable mapping on I◦, a,b ∈ I◦ (I◦ is the interior of I) with a < b. If f ′ ∈ L[a,b], then the
following equality holds:

f (a)+ f (b)
2

− 1
b−a

∫ b

a
f (x)dx =

b−a
2

∫ 1

0
(1−2t) f ′(ta+(1− t)b)dt. (1.2)

Theorem 1.2. Let f : I◦ ⊆ R→ R be a differentiable mapping on I◦, a,b ∈ I◦ with a < b. If | f ′| is convex on [a,b], then the following
inequality holds:∣∣∣∣ f (a)+ f (b)

2
− 1

b−a

∫ b

a
f (x)dx

∣∣∣∣≤ (b−a)
8

(∣∣ f ′(a)∣∣+ ∣∣ f ′(b)∣∣) . (1.3)

In [5], Kirmaci proved the following results connected with the left part of (1.1). In [5] some inequalities of Hermite-Hadamard type for
differentiable convex mappings were proved using the following lemma.

Lemma 1.3. Let f : I◦ ⊂ R→ R, be a differentiable mapping on I◦, a,b ∈ I◦ with a < b. If f ′ ∈ L([a,b]), then we have

1
b−a

∫ b

a
f (x)dx− f

(
a+b

2

)
= (b−a)

[∫ 1
2

0
t f ′(ta+(1− t)b)dt +

∫ 1

1
2

(t−1) f ′(ta+(1− t)b)dt

]
. (1.4)
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Theorem 1.4. Let f : I◦ ⊆ R→ R be a differentiable mapping on I◦, a,b ∈ I◦ with a < b. If | f ′| is convex on [a,b], then we have∣∣∣∣ 1
b−a

∫ b

a
f (x)dx− f

(
a+b

2

)∣∣∣∣≤ (b−a)
8

(∣∣ f ′(a)∣∣+ ∣∣ f ′(b)∣∣) . (1.5)

The subject of the fractional calculus (integrals and derivatives) has gained considerable popularity and importance during the past there
decades or so, due mainly to its demonstrated applications in numerous seemingly diverse and widespread fields of science and engineering.
The fractional integral does indeed provide several potentially useful tools for various problems involving special functions of mathematical
science as well as their extensions and generalizations in one and more variables. This subject is still being studied extensively by many
authors, see for instance ([1], [2], [4], [6], [8]-[23]). One of the important applications of fractional integrals is Hermite-Hadamard integral
inequality, see [10], [19]-[21]. First, let’s recall the above definition of the Riemann-Liouville fractional integral are defined by follows [4]
and [8]:

Jα

a+
f (x) =

1
Γ(α)

∫ x

a
(x− t)α−1 f (t)dt, x > a,

Jα

b− f (x) =
1

Γ(α)

∫ b

x
(t− x)α−1 f (t)dt, x < b.

The k-Riemann-Liouville fractional integral are defined by follows:

Jα

a+ ,k
f (x) =

1
kΓk (α)

∫ x

a
(x− t)

α

k −1 f (t)dt, x > a,

Jα

b−,k f (x) =
1

kΓk (α)

∫ b

x
(t− x)

α

k −1 f (t)dt, x < b

where

Γk (α) =
∫

∞

0
tα−1e−

tk
k dt, R(α)> 0

and

Γk (α) = k
α

k −1
Γ

(
α

k

)
, R(α)> 0;k > 0

are given by Mubeen and Habibullah in [20].
Now, let’s recall the basic expressions of Hermite-Hadamard inequality for fractional integrals is proved by Sarikaya et al. in [10] as follows:

Theorem 1.5. Let f : [a,b]→R be a function with a < b and f ∈ L1([a,b]). If f is a convex function on [a,b], then the following inequalities
for fractional integrals hold:

f
(

a+b
2

)
≤ Γ(α +1)

2(b−a)α

[
Jα

a+ f (b)+ Jα
b− f (a)

]
≤ f (a)+ f (b)

2
(1.6)

with α > 0.

Meanwhile, in [10], Sarikaya et al. gave the following interesting Trapeozid identity for Riemann-Liouville integral:

Lemma 1.6. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If f ′ ∈ L [a,b] , then the following equality for fractional
integrals holds:

f (a)+ f (b)
2

− Γ(α +1)
2(b−a)α

[
Jα

a+ f (b)+ Jα
b− f (a)

]
=

b−a
2

∫ 1

0

[
(1− t)α − tα

]
f ′ (ta+(1− t)b)dt. (1.7)

Theorem 1.7. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If | f ′| is convex on [a,b], then the following inequality for
fractional integrals holds:∣∣∣∣ f (a)+ f (b)

2
− Γ(α +1)

2(b−a)α

[
Jα

a+ f (b)+ Jα
b− f (a)

]∣∣∣∣≤ b−a
2(α +1)

(
1− 1

2α

)[
f ′(a)+ f ′(b)

]
. (1.8)

On the other hand, in [19] Iqbal et al. gave the following results connected with the left part of Riemann-Liouville integral inequalities of
Hermite-Hadamard type (1.6) by using the following Midpoint identity as follows.

Lemma 1.8. Let f : [a,b]→ R be a differentiable function on (a,b). If f ′ ∈ L1 [a,b] , then the following identity for Riemann-Liouville
fractional integrals holds:

f
(

a+b
2

)
− Γ(α +1)

2(b−a)α

[
Jα

a+ f (b)+ Jα
b− f (a)

]
=

b−a
2

4

∑
k=1

Ik, (1.9)

where

I1 =

1
2∫

0
tα f ′ (tb+(1− t)a)dt, I2 =

1
2∫

0
(−tα ) f ′ (ta+(1− t)b)dt,

I3 =
1∫
1
2

(tα −1) f ′ (tb+(1− t)a)dt, I4 =
1∫
1
2

(1− tα ) f ′ (ta+(1− t)b)dt.

Many paper have been studied the Riemann-Liouville fractionals integrals and give new and interesting generalizations of Hermite-Hadamard
type inequalities using these kind of integrals, see for instance see ([10]-[13]).
The purpose of this paper is establish new Hermite-Hadamard type inequalities involving Beta functions. Using functions whose first
derivatives absolute values are convex, we obtain new trapezoid and midpoint inequalities that are connected with the celebrated Hermite-
Hadamard type which cover the previously puplished results.
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2. Hermite-Hadamard inequalities involving beta function

In this section, using Beta function, we begin by the following theorem:

Theorem 2.1. Let f : [a,b]→ R be a convex function on [a,b] with a < b, then the following inequalities hold:

f
(

a+b
2

)
β (m,n)≤ 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx≤ β (m,n)
f (a)+ f (b)

2
(2.1)

where β (m,n) is a beta function and

Ω(x) = (b− x)m−1 (x−a)n−1 +(b− x)n−1 (x−a)m−1

for m,n > 0.

Proof. For t ∈ [0,1], let x = ta+(1− t)b, y = (1− t)a+ tb. The convexity of f yields

f
(

a+b
2

)
= f

(
x+ y

2

)
≤ f (x)+ f (y)

2
(2.2)

i.e.,

2 f
(

a+b
2

)
≤ f (ta+(1− t)b)+ f ((1− t)a+ tb) . (2.3)

Multiplying both sides of (2.3) by tm−1 (1− t)n−1, then integrating the resulting inequality with respect to t over [0,1], we obtain

2 f
(

a+b
2

)∫ 1

0
tm−1 (1− t)n−1 dt ≤

1∫
0

tm−1 (1− t)n−1 f (ta+(1− t)b)dt +
1∫

0

tm−1 (1− t)n−1 f ((1− t)a+ tb)dt.

As consequence, we obtain

f
(

a+b
2

)
β (m,n)≤ 1

2(b−a)m+n−1

b∫
a

[
(b− x)m−1 (x−a)n−1 +(b− x)n−1 (x−a)m−1

]
f (x)dx

and the first inequality is proved.
To prove the other half of the inequality in (2.1), since f is convex, for every t ∈ [0,1], we have,

f (ta+(1− t)b)+ f ((1− t)a+ tb)≤ f (a)+ f (b) . (2.4)

Then multiplying both sides of (2.4) by tm−1 (1− t)n−1 and integrating the resulting inequality with respect to t over [0,1], we obtain

1

2(b−a)m+n−1

b∫
a

[
(b− x)m−1 (x−a)n−1 +(b− x)n−1 (x−a)m−1

]
f (x)dx≤ f (a)+ f (b)

2
β (m,n)

and the second inequality is proved.

Remark 2.2. If in Theorem 2.1, we get n = m = 1, then the inequalities (2.1) become the inequalities (1.1).

Remark 2.3. If in Theorem 2.1, we get m = 1, n = α,(or m = α, n = 1) then the inequalities (2.1) become the inequalities (1.6) of Theorem
1.5.

Remark 2.4. If in Theorem 2.1, we get m = 1, n = α

k ,(or m = α

k , n = 1) then the inequalities (2.1) become the inequalities

f
(

a+b
2

)
≤ Γk (α + k)

(b−a)
α

k

[
Jα

a+ ,k
f (b)+ Jα

b−,k f (a)
]
≤ f (a)+ f (b)

2

which are proved by Hussain et. al. in [22].
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3. Trapezoid inequalities involving beta function

In this section, we give an identity which use to assist us is proving our results as follows:

Lemma 3.1. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If f ′ ∈ L [a,b] , then the following equality holds:

β (m,n)
f (a)+ f (b)

2
− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx =
(b−a)

2

1∫
0

βt (m,n)
[

f ′ (tb+(1− t)a)− f ′ (ta+(1− t)b)
]

dt (3.1)

where βt (m,n) is incomplete beta function defiend by

βt (m,n) =
t∫

0

sm−1 (1− s)n−1 ds, 0 < t ≤ 1

for m,n > 0.

Proof. Here, we apply integration by parts in integrals of right part of (3.1), then we have

z1 =

1∫
0

βt (m,n) f ′ (tb+(1− t)a)dt

=
f (b)

b−a
β (m,n)− 1

b−a

1∫
0

tm−1 (1− t)n−1 f (tb+(1− t)a)dt

=
f (b)

b−a
β (m,n)− 1

(b−a)m+n

b∫
a

(x−a)m−1 (b− x)n−1 f (x)dx.

And similarly, we obtain

z2 =

1∫
0

βt (m,n) f ′ (ta+(1− t)b)dt = − f (a)
b−a

β (m,n)+
1

b−a

1∫
0

tm−1 (1− t)n−1 f (ta+(1− t)b)dt

= − f (a)
b−a

β (m,n)+
1

(b−a)m+n

b∫
a

(x−a)n−1 (b− x)m−1 f (x)dx.

If we subtract z1 from z2 and multiply by (b−a)
2 , we obtain proof of the (3.1).

Remark 3.2. If in Lemma 3.1, we get m = n = 1, then the identity (3.1) becomes the identity (1.2) of Lemma 1.1.

Remark 3.3. If in Lemma 3.1, we get m = 1, n = α,(or m = α, n = 1), then the identity (3.1) becomes the identity (1.7) of Lemma 1.6.

Remark 3.4. If in Lemma 3.1, we get m = 1, n = α

k ,(or m = α

k , n = 1), then the identity (3.1) reduces to

f (a)+ f (b)
2

− Γk (α + k)

(b−a)
α

k

[
Jα

a+ ,k
f (b)+ Jα

b−,k f (a)
]
=

b−a
2

∫ 1

0

[
(1− t)

α

k − t
α

k

]
f ′ (ta+(1− t)b)dt

which are proved by Hussain et. al. in [22].

Remark 3.5. By the change of variable in Lemma 3.1, the identity (3.1) reduces to

β (m,n)
f (a)+ f (b)

2
− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx =
(b−a)

2

1∫
0

[βt (m,n)−β1−t (m,n)] f ′ (tb+(1− t)a)dt.

Now, we extend some estimates of the right hand side of a Hermite-Hadamard type inequality for functions whose first derivatives absolute
values are convex as follows:

Theorem 3.6. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If | f ′| is convex on [a,b], then the following inequality
holds: ∣∣∣∣∣∣β (m,n)

f (a)+ f (b)
2

− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣≤ (b−a)
(
| f ′ (a)|+ | f ′ (b)|

2

) 1
2∫

0

[β1−t (m,n)−βt (m,n)]dt (3.2)

for m,n > 0.
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Proof. Using Lemma 3.1 and the convexity of | f ′|, we find that∣∣∣∣∣∣β (m,n)
f (a)+ f (b)

2
− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣ ≤ (b−a)
2

1∫
0

|βt (m,n)−β1−t (m,n)|
∣∣ f ′ ((1− t)a+ tb)

∣∣dt

≤ (b−a)
2

1
2∫

0

[β1−t (m,n)−βt (m,n)]
[
(1− t)

∣∣ f ′ (a)∣∣+ t
∣∣ f ′ (b)∣∣]dt

+
(b−a)

2

1∫
1
2

[βt (m,n)−β1−t (m,n)]
[
(1− t)

∣∣ f ′ (a)∣∣+ t
∣∣ f ′ (b)∣∣]dt

=
(b−a)

2
(∣∣ f ′ (a)∣∣+ ∣∣ f ′ (b)∣∣)

1
2∫

0

[β1−t (m,n)−βt (m,n)]dt

which this completes the proof of the (3.2).

Remark 3.7. If in Theorem 3.6, we get n = m = 1, then, the inequality (3.2) becomes the inequality (1.3) of Theorem 1.2.

Remark 3.8. If in Theorem 3.6, we get m = 1, n = α,(or m = α, n = 1), then the inequality (3.2) becomes the inequality (1.8) of Theorem
1.7.

Remark 3.9. If in Theorem 3.6, we get m = 1, n = α

k ,(or m = α

k , n = 1), then the inequality (3.2) becomes∣∣∣∣∣ f (a)+ f (b)
2

− Γk (α + k)

(b−a)
α

k

[
Jα

a+ ,k
f (b)+ Jα

b−,k f (a)
]∣∣∣∣∣≤ (b−a)(

α

k +1
) (1− 1

2
α

k

)(
| f ′ (a)|+ | f ′ (b)|

2

)
which are proved by Hussain et. al. in [22].

Theorem 3.10. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If | f ′|q is convex on [a,b] for some q > 1, then the
following inequality holds: for m,n > 0∣∣∣∣∣∣β (m,n)

f (a)+ f (b)
2

− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣≤ (b−a)
2

 1∫
0

|βt (m,n)−β1−t (m,n)|p dt

 1
p (
| f ′ (a)|q + | f ′ (b)|q

2

) 1
q

(3.3)

where 1
p +

1
q = 1.

Proof. Using Lemma 3.1, Hölder’s inequality and the convexity of | f ′|q, we find that∣∣∣∣∣∣β (m,n)
f (a)+ f (b)

2
− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣
≤ (b−a)

2

 1∫
0

|βt (m,n)−β1−t (m,n)|p dt

 1
p
 1∫

0

∣∣ f ′ ((1− t)a+ tb)
∣∣q dt

 1
q

≤ (b−a)
2

 1∫
0

|βt (m,n)−β1−t (m,n)|p dt

 1
p
 1∫

0

[
(1− t)

∣∣ f ′ (a)∣∣q + t
∣∣ f ′ (b)∣∣q]dt

 1
q

which this completes the proof of the (3.3).

Remark 3.11. If in Theorem 3.10, we get m = n = 1, then, the inequality (3.3) becomes the inequality (2.4) of Theorem 2.3 in [3].

Remark 3.12. If in Theorem 3.10, we get m = 1, n = α,(or m = α, n = 1), then the inequality (3.3) becomes the inequality (2.7) of Theorem
8 in [14].

Remark 3.13. If in Theorem 3.10 we get m = 1, n = α

k ,(or m = α

k , n = 1), then the inequality (3.3) becomes∣∣∣∣∣ f (a)+ f (b)
2

− Γk (α + k)

(b−a)
α

k

[
Jα

a+ ,k
f (b)+ Jα

b−,k f (a)
]∣∣∣∣∣≤ (b−a)

2
(

α

k p+1
) 1

p

(
| f ′ (a)|q + | f ′ (b)|q

2

) 1
q

where 1
p +

1
q = 1, α

k ∈ [0,1] , which are proved Hussain et. al. in [22].
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4. Midpoint inequalities involving beta function

Before starting and proving our next result, we need the following lemma.

Lemma 4.1. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If f ′ ∈ L [a,b] , then the following equality holds:

f
(

a+b
2

)
β (m,n)− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx =
b−a

2

4

∑
k=1

Tk (4.1)

where

T1 =

1
2∫

0
βt (m,n) f ′ (tb+(1− t)a)dt, T2 =

1
2∫

0
(−βt (m,n)) f ′ (ta+(1− t)b)dt,

T3 =
1∫
1
2

(−β1−t (n,m)) f ′ (tb+(1− t)a)dt, T4 =
1∫
1
2

β1−t (n,m) f ′ (ta+(1− t)b)dt

for m,n > 0.

Proof. In the proof of (4.1), we apply integration by parts, then we have

T1 =

1
2∫

0

βt (m,n) f ′ (tb+(1− t)a)dt

=
1

b−a
β 1

2
(m,n) f

(
a+b

2

)
− 1

b−a

1
2∫

0

tm−1 (1− t)n−1 f (tb+(1− t)a)dt,

T2 =

1
2∫

0

(−βt (m,n)) f ′ (ta+(1− t)b)dt

=
1

b−a
β 1

2
(m,n) f

(
a+b

2

)
− 1

b−a

1
2∫

0

tm−1 (1− t)n−1 f (ta+(1− t)b)dt,

T3 =

1∫
1
2

(−β1−t (m,n)) f ′ (tb+(1− t)a)dt

=
1

b−a
β 1

2
(n,m) f

(
a+b

2

)
− 1

b−a

1∫
1
2

(1− t)m−1 tn−1 f (tb+(1− t)a)dt,

T4 =

1∫
1
2

β1−t (m,n) f ′ (ta+(1− t)b)dt

=
1

b−a
β 1

2
(n,m) f

(
a+b

2

)
− 1

b−a

1∫
1
2

(1− t)m−1 tn−1 f (ta+(1− t)b)dt.

Thus, by the above expressions, the desired identity (4.1) is obtained.

Remark 4.2. If in Lemma 4.1, we take m = n = 1, then, the identity (4.1) becomes the identity (1.4) of Lemma 1.3 by Kirmaci in [5].

Remark 4.3. If in Lemma 4.1, we take m = 1, n = α,(or m = α, n = 1), then the identity (4.1) reduces to (1.9) of Lemma 1.8 by Iqbal et al.
in [19] .

Remark 4.4. If in Lemma 4.1, we take m = 1, n = α

k ,(or m = α

k , n = 1), then the identity (4.1) reduces to the identity of Corollary 6 by
Sarikaya and Ertugral in [13] .

Remark 4.5. By the change of variable in Lemma 4.1, the identity (4.1) reduces to

f
(

a+b
2

)
β (m,n)− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx =
(b−a)

2

1
2∫

0

[βt (m,n)+βt (n,m)]
[

f ′ (tb+(1− t)a)− f ′ (ta+(1− t)b)
]

dt. (4.2)
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Finally, we extend some estimates of the left hand side of a Hermite-Hadamard type inequality for functions whose first derivatives absolute
values are convex as follows:

Theorem 4.6. Let f : [a,b]→ R be a differentiable mapping on (a,b) with a < b. If | f ′| is convex on [a,b], then the following inequality
holds:∣∣∣∣∣∣ f
(

a+b
2

)
β (m,n)− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣≤ (b−a)
2

[∣∣ f ′ (a)∣∣+ ∣∣ f ′ (b)∣∣](1
2

β (m,n)−β 1
2
(m+1,n)−β 1

2
(n+1,m)

)
(4.3)

for m,n > 0.

Proof. From (4.2) and using the convexity of | f ′| , then we have∣∣∣∣∣∣ f
(

a+b
2

)
β (m,n)− 1

2(b−a)m+n−1

b∫
a

Ω(x) f (x)dx

∣∣∣∣∣∣≤ (b−a)
2


1
2∫

0

[βt (m,n)+βt (n,m)]dt

[∣∣ f ′ (a)∣∣+ ∣∣ f ′ (b)∣∣] . (4.4)

By change variable in the integrals, we get

1
2∫

0

[βt (m,n)+βt (n,m)]dt =

1
2∫

0

t∫
0

sm−1 (1− s)n−1 dsdt +

1
2∫

0

t∫
0

(1− s)m−1 sn−1dsdt (4.5)

=
1
2

β (m,n)−β 1
2
(m+1,n)−β 1

2
(n+1,m) .

By writing (4.5) in the (4.4), we obtain the required inequality. This completes the proof.

Remark 4.7. If in Theorem 4.6, we take m = n = 1, then, the inequality (4.3) reduces to the inequality (2.3) of Theorem 2.3 by Kirmaci in
[5].

Remark 4.8. If in Theorem 4.6, we take m = 1, n = α,(or m = α, n = 1), then the inequality (4.3) reduces to the inequality (3) of Theorem
2 by Iqbal et al. in [19] .

Remark 4.9. If in Theorem 4.6, we take m = 1, n = α

k ,(or m = α

k , n = 1), then the inequality (4.3) reduces to the inequality of Corollary 9
by Sarikaya and Ertugral in [13].

References

[1] A. Akkurt, Z. Kacar, H. Yildirim, Generalized Fractional Integral Inequalities for Continuous Random Variables, Journal of Probability and Statistics
2015(2015), Article ID 958980.

[2] A. Akkurt, M. E. Yildirim, H. Yildirim, On some integral inequalities for (k,h)-Riemann-Liouville fractional integral, New Trends in Mathematical
Sciences (NTMSCI) 4 (1), 138-146, 2016.

[3] S. S. Dragomir and R.P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal
formula, Appl. Math. lett., 11(5) (1998), 91-95.

[4] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, Theory and applications of fractional differential equations, North-Holland Mathematics Studies, 204,
Elsevier Sci. B.V., Amsterdam, 2006.

[5] U. S. Kirmaci, Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula, Applied Mathematics
and Computation 147 (2004) 137–146

[6] R. Gorenflo and F. Mainardi, Fractional calculus: integral and differential equations of fractional order, Springer Verlag, Wien (1997), 223-276.
[7] J. Hadamard, Etude sur les proprietes des fonctions entieres et en particulier d’une fonction considree par, Riemann, J. Math. Pures. et Appl. 58 (1893),

171–215.
[8] S. Miller and B. Ross, An introduction to the fractional calculus and fractional differential equations, John Wiley & Sons, USA, 1993, p.2.
[9] R. K. Raina, On generalized Wright’s hypergeometric functions and fractional calculus operators, East Asian Math. J., 21(2) (2005), 191-203.

[10] M. Z. Sarikaya, E. Set, H. Yaldiz and N. Basak, Hermite-Hadamard′s inequalities for fractional integrals and related fractional inequalities,
Mathematical and Computer Modelling, 57 (2013) 2403–2407.

[11] M. Z. Sarikaya and H. Yaldiz, On generalization integral inequalities for fractional integrals, Nihonkai Math. J., Vol.25(2014), 93–104.
[12] M. Z. Sarikaya, H. Yaldiz and N. Basak, New fractional inequalities of Ostrowski-Grüss type, Le Matematiche, Vol. LXIX (2014)-Fasc. I, pp. 227-235.
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